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October 18, 2021

Monday 10.18

Tuesday 10.19

f(0)=

h(-2) = +8
so= [
fix)=3,x= ZD
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glx)=3x>—x+2

h(x) = 12 G)x

Z - -Il‘,':g(x)=3x2—x+2

Ifx={4, -1, 3, 5}, find the
domain and range.

Find average rate of change
for i <x<2
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Graph 2x — 4y > 16.

24(H)

Find the domain and range
of the graph to the left.
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s (-2, -9) a solution to the

You are choosing between
two jobs. At job A, you pay
for a $10 uniform to start
en earn $8 per hour.
At job B, you pay for a $25
uniform to start and then

ea 50 per hour. How
ﬁan urs do you have to
WO ave made the

same amount at either job?
How much will you have
made?
@€ saving up for car
1 _Your parents
give you a monthly stipend
f $40 and make $8.25 per
ur, ur job. If you need
at least 3135 per month to
pay for the car, how many

’hours would you need to
,work‘?
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SAT Question:

b =235+ 0.25x
c =175+ 0.40x

In the equations above, b and c represent the price per
pound, in dollars, or beef and chicken, respectively, x
weeks after July 1 during last summer. What was the price
per pound of bgef when it was equal to the price per pound

Of clicken 2.35 {—.25x:l

A) $2.60
B) $2.85

$2.95
3_35

SAT Question:
g(x) = ax? + 24

For the function g defined above, a is a constant and
g(4) = 8. What is the value of g(-4)?

A) 8
B) 0

2840.40x
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